
Geography 6th Class Chapter 4 Online Test

Sr Questions Answers Choice

1 Forests situated is equatorial and subequatorial areas between 30 o N to 30 o S are known
as.

A. Tropical
B. Boreal forest
C. Temperete Forests
D. Taiga

2 Idently , forest must covers area of.
A. 50%
B. 25%
C. 10%
D. 40%

3 There are main types of forests.
A. 3
B. 5
C. 7
D. 9

4 Forest above the height of 4000 meters are.
A. Confireous
B. Alpine
C. Riverine
D. Rakhs

5 The largest rainforest is teh world is.
A. Indus forest
B. Changa Manga
C. Amazon forest
D. alpine forest

6 Area of Pakistan is covered by forests.
A. 5%
B. 10%
C. 25%
D. 30%

7 Zaire Basin is located is
A. Pakistan
B. Europe
C. Africa
D. South America

8 Chiltan National Park is located in
A. Peshawar
B. Chitral
C. Quetta
D. Gwadar

9 An example of irrigaed plntations .
A. alpine
B. Riverine
C. Changa Manga
D. Rakhs

10 The tallest trees are found in.
A. Canopy layer
B. Emergent layer
C. Grond layer
D. Undestory

11 ---------------- is the process is which plants grew whithout interferenc of human.
A. Agriculure
B. Vegetation
C. Forest
D. Grassland

12 The growing and harvesting of crops in particular eavireument is called.
A. Agriculture
B. Vegation
C. Forest
D. None of these

13 Areas with more than 100 cm rain fall supperts
A. Grass land
B. Meadows
C. Forest
D. Desert

14 There are....... male types of forest.

A. One

B. Two
C. Three
D. Four

15 The forest situated in equatorial belt are ...........forest.
A. Temperate
B. Boreal
C. Tropical
D. None of these



16 The uppermost layer of the forest is called.
A. Canopy
B. Ground
C. Emergant
D. Understory

17 ------------- layer of tree does ot let the sunlight to penetrte.
A. Canopy
B. Ground
C. Understory
D. Emergent

18 Forest having 750 mm rainfall are called.... forest.
A. Boieal
B. Tropical
C. Temperate
D. None of these

19 ------------ forest are also known as taiga forests.
A. Boreal
B. Tropical
C. Temperate
D. None of these

20 The forest are almost 60% of totla world's rainforests.
A. Boreal forest
B. Amazon forest
C. Temperate forest
D. None of these

21 Trees absorb ... from air.
A. Oxygen
B. Nigtrogen
C. Carbon di oxide
D. Argon

22 The forest found betwene 1000-4000 meters elevation are known as.
A. Alpine
B. Coniferous
C. Boreal
D. None of these

23 The forest locaed in foothills are called ....... forest.
A. Coastal
B. Coniferous
C. Alpine
D. Piedmont


